[bookmark: _GoBack]Person A:  _________________________		Person B:  _________________________					
Solving Logarithmic Equations Row Game

Person A solves the equations in column A while person B solves the equations in column B.
As you finish each problem, check your answer with the other person.
The answers should be the same.  If they are not, you must work together to find your mistake.
Note:  Question #7 yields 2 solutions.  The question in column A has an extraneous root whereas
there are no extraneous roots for the question in column B.  Discuss why with your partner.
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